integral - 4.2-4.4 review November 15, 2013

Find the differential dy. 35 = ‘f ‘(0 ()K

Approximate the function value using differentials.

1. y=5x*+7
Y 5. V104

c\jz \‘5>(7—d>( Hint: f(c+ Ax) ~ F(©) + F'(c)Ax
S £00=0X 5 c=)00 . &x=4
d (ﬂ— sec)<>d>< p =4 ,
_ T
. et g
e 100FEx (100 4

X _3 = +
S ~3x+C 10,

4. [(csc?@ —sin@)do

~cot® +cos@ tC

S
5

4.3 Soegase e f
™. Guen S'F(@a‘x O Z-S'Wx)éx‘b

IERIES)
5’5(@3)( j f(ax= 0-5= @

(QSF@AX—S FO¥ = S=(-5) =10 .
©§' 340y 3 %30 =[5]

(45&,3:@&% 3G~ @
€ T roax[0CE)

@ f FOx



integral - 4.2-4.4 review November 15, 2013

‘TAF —Fmé QReea ot f‘égmn Iodw\&eabj

———

12 . j=|+\3/,>_< y X=0,%=% »Y=0
S(\-rxé)éx

2 4/3

= Xt 35X

- 8‘*%-(@)?? "O;@

4—3 Calculmlf ULSH\g luvH ale‘F

A3
(o.§-3x dx = |"“ Z5C\+ )&
l L= ’F(a'.-(_r\—) 310{\;

- \tr e :5C|.|_4;\(.++L) 2

n-eo
lim, Z‘__ 1t - 2:( -
| + L=
N- oo = LZL + nsl."ZI
. l\(g:g b o 42T Z‘l‘ Q(n-t-uj 24_ n(ﬂ-l-}(?'\ﬂ-ﬂ

N3 b
=o+12+3 = -




integral - 4.2-4.4 review November 15, 2013

12
= (2¢ 2
to. e T (3)(%

A 2 . L
__E |+ — v L?. _
3 2 . w N

lim |=2.a ¢ = N0+ 1 nle)za+ )Y

ZnYoo | N N N 2 n3 _—%}&) =



integral - 4.2-4.4 review November 15, 2013

Homework for Test #1 (Tuesday, 11/19)

HW#1 (submitted Mon. 11/11)
e 3.9#5,9;11-19 odd; 45, 49
* 4.1 #5-33 odd; 55-61 odd; 67, 83

HW#2 (due Mon. 11/18)

e 4.2 #7-190dd; 27-370dd; 41,43,47,53
e 434#7,17,37,43,45

e 44 #13,15,23,31

 Test #1 Practice Problems
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